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N H|& 38.1 9.5 19.0 9.5 4.8 19.0 100.0
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HlT 8 2 4 2 1 4 21
= Aol A H|& 37.5 12.5 375 12.5 - - 100.0
HI 3 1 3 1 - - 8
H|S - - - - -
RN = 100.0 100.0
HIZ - - 1 - - - 1
N H|& - 100.0 - - - - 100.0
) bl - 1 - - - - 1
H|E - - - - - - -
S L
e - - - - - - -
2 Aol A H|& 50.0 - 50.0 - - - 100.0
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dl<eo] 27.1%, 849 <o) 14.6% o2 UEh

<E 2-10> EZX[9E o{FFI ofd Al7[(2007H)
Chelr %,
| ==
T2 |7HOM | 78E%|7d5e 78ole |sdAe sYEE | s¥cke o8o1B| S5 |8 A
TS -y
MEA He| 1.7 1.4 47 | 266 | 444 | 161 | 35 1.4 0.4 | 100.0
ITE M ae] 9 7 24 137 | 229 83 18 7 2 516
Z ol FA Hg | - 2.1 42 | 236 | 479 | 153 | 56 1.4 - 1000
;J T - 3 6 34 69 22 8 2 - 144
= ol HE| 05 1.6 54 | 289 | 477 | 120 | 26 1.2 - 11000
R 1= 9 31 166 | 274 69 15 7 - 574
oA HE| 0.6 0.6 65 | 206 | 458 | 187 | 65 0.6 - 11000
SAZA
| 1 1 10 32 71 29 10 1 - 155
R HE| 09 2.7 53 | 274 | 442 | 168 | 27 - - 11000
ST eE ] 1 3 6 31 50 19 3 - - 113
LmzolA HE| 1.4 2.8 28 | 268 | 408 | 169 | 4.2 4.2 - 11000
STe ] 1 2 2 19 29 12 3 3 - 71
ciximorn BB - 59 | 11.8 | 250 | 426 | 132 | 15 - - 11000
&= | - 4 8 17 29 9 1 - - 68
SN Hg | - - 1.8 | 436 | 455 | 9.1 - - - 1000
i Y= R - 1 o4 % 5 - - - 55
— HE| 09 1.7 52 | 271 | 458 | 146 | 34 1.2 0.1 | 100.0
= Bz | 15 29 88 460 | 776 | 248 58 20 2 | 1,69
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i _ % | A2l | FA/ | DBEE
=] A A5l SH My} St
7 B SEXH S8R ta | Ba | ZEiA 7| & (KTX) H|g47|| Met | J|E} A
M2A HE | 664 | 68 | 34 | 14 1.7 1.7 1.7 | 158 - | 1.0 [100.0
~ =N THE 194 | 20 | 10 | 4 5 5 5 46 | - 3 | 292
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CHel: %, o
2 2 |asa| B laea suw | sun | aua | MFd | el | oo | e
(CbSEA-1)] £33
A meA Hlg - 23. 70 | 205 | 227 | 249 | 04 | 07 - | 100.0
i Bl - 65 19 56 62 68 1 2 - 273
;_j A7l | Hlg | 218 7.3 77 | 254 | 183 | 183 | 07 | 02 | 02 | 1000
(oIx =3t | "z | 93 31 33 | 108 | 78 78 3 1 1 426
251 Hg | 31.3 | 31.3 - 63 | 125 | 125 | - 6.3 - | 100.0
- iz 5 5 - 1 2 2 - 1 - 16
— Hg | 19.9 13.2 66 | 232 | 132 | 232 | 07 - - | 100.0
gl | 30 20 10 35 20 35 1 - - 151
ot Hg | 127 | 101 13 | 76 | 557 | 127 | - - - | 100.0
=T Bz | 10 8 1 6 44 10 - - - 79
e Hg | 8.6 1.4 46 | 49 | 84 | 712 | 06 | 03 - | 100.0
Bl | 30 5 16 17 29 | 247 2 1 - 347
Hlg | 50.0 - - - - | 500 | - - - | 100.0
A iz 1 - - - - 1 - - - 2
s Hg | 13.1 10.4 61 | 172 | 182 | 341 | 05 | 04 | 01 | 100.0
Bz | 169 134 79 | 223 | 235 | 441 7 5 1| 1,204
B (%)
0.0 5.0 10.0 15.0 20.0 25.0 30.0 35.0 40.0

| 34.1

HMzA [Jo.s
#e JJo.4

28/F8% |01

<O 3-8> 34 AN E= oY 0 x|oo| X (20084)



F4 949 e ol d A4Ade] Mapping 23}, SRS A, FHA0R
olgo] 23.5%% 7 %o, 1 tgow FEd20.9%), THAU(20.0%) o=
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o A AX EE o dF A9L drdE AP HSAE STk FA4(2006M
(10.8%), 20073(11.8%), 2008 (13.1%))elH, A7=(QIHFHE TAadhes FA
(20061 3(12.2%), 20071(11.8%), 2008(10.4%) 2 }ERS

o AbA+Zho] FALS] Ao} AL FAL AyE AHEWH FHA(-0.5%) Uar FAsaL,
A7 (QHEN0.5%)9F FEA(+0.6%)2 T F71sE Ao= b
<E 3-15> M 2N = o3 oY X|od(MEzH)
ohel: %,
7= =5/
7 =2 MEA|, 7 | 23 |38 | s |G HFE | e R
(QIH =B FSH
084 Hlg | 13.1 10.4 6.1 | 17.2 | 182 | 34.1 | 05 | 04 | 0.1 |100.0
APE+ZEOl | v 169 134 79 223 | 235 | 441 7 5 1 1,294
084 Hg | 14.1 9.9 59 | 17.7 | 179 | 335 | 05 | 05 | 0.1 |100.0
INES = | 188 132 78 236 | 239 | 447 6 6 1 1,333
o7 HE | 11.8 11.8 5.8 | 185 | 194 | 31.7 | 0.2 | 08 - 1100.0
- Bl | 142 | 142 69 | 222 | 233 | 381 | 3 10 - 1201
064 HE | 10.8 12.2 43 | 166 | 209 | 335 | 0.5 1.2 - 1100.0
- = 83 94 33 128 | 161 | 258 4 9 - 770
EAE Z AL WAE +2HO] = A Hl 2 (%)
0.0 5.0 10.0 15.0 20.0 25.0 30.0 35.0 40.0

M Al
ZIE(AHEH)
zad

5384




%!DO:’

Che:

9.5
95

6.5

65

3.6
36

11.4
114

10.6

106
20.1

201

0.2

0.3

30.5

305

73
100.0
1,000

7.3

0.1

0.4

0.1

2.4
24

3.0
30

0.8

1.1
11
0.1

1.3
13
0.7

1.8

18

29.4

294

3.5
35

38.7

387

0.2

0.2

0.2

0.1

0.3

0.4

0.1

0.2

18.2

182

0.3

0.3

19.5

195

0.2

93
93

0.2

0.5

10.2

102

0.1

9.6
96

0.1

0.1

0.2

10.1

101

0.2

3.4
34

0.1

3.7

37

0.7

5.0

50

0.2

0.1

0.4

0.3

6.7
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7.2
72

0.1

0.1

0.1
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° 2008 F4 A4 E= o o AdS AA/EER AR, ogs dta

o

SHI A A9 AQEI} 2 22.7%% EA) vrebd

<E 317> F4 7Y E= ofd ofF X%(2008H) - #d/o{de

crel: %, o
22 |men 2= lnea | snw sua | aua | mxa | ae | B0 | e
(QIHZ3 2sg

2/ H& | 13.3 10.6 5.8 17.4 18.1 34.5 0.4 - - 100.0
HI= 169 134 73 220 230 437 5 - - 1,268

o3l HI2 - - 22.7 9.1 13.6 18.2 9.1 22.7 4.5 100.0
HIE - - 5 2 3 4 2 5 1 22

HAM a | H[E - - 25.0 25.0 50.0 - - - - 100.0
oy | e | - - 1 1 2 | - | - -] -] 4

c SR oS AgHT Atk $HAY Aol AGe gl 39, FH 0

F7F 247 1Mo g Yehg

<E 3-18> FM 7Y £ oAl a2l ofd ofd X[(2008H)

CLo
T& SEHot 3 d= o|F 2]
‘084 H| & 60.0 20.0 - 20.0 100.0
At+240] Hle 3 1 - 1 5
'084 H|& 50.0 16.7 16.7 16.7 100.0
AMH I 3 1 1 1 6

<O 311> FA AN £= Al B2l ofd 0ofF X|Ho| EE(2008H)



o TR A AFAY AR T oF dF A2 FRAs AYst FH A
23.5%= 7H4 #A vepgen, Jgdo] 20.9%, sEde] 20.0%% vEhd

o FEA AFAY F4 A T oY AYS ARER AFEW, F
(28.9%) tiH] 2008A(27.0%)°+= Tha s o= %
(16.7%) 1] 2008*A(20.9%)°] tha Z7hst Aoz Yehd

<E 3-19> 2 ATAY 24 Y T oY ofF xo(HEH)

=
28 | +sd | zud | sud | sud | wud | MRE | a9 | oo |
ToHd
ogd | HIZ | 270 | 74 | 235 | 200 | 209 | 06 0.4 01 | 1000
APE+ZHOl | w1z | 189 52 164 140 146 4 3 1 699
ogd | HIE | 272 | 71 237 | 197 | 209 | 06 0.6 01 | 1000
AR wis | 195 51 170 141 150 4 4 1 716
4 HE | 289 | 8.3 240 | 208 | 167 | 04 0.9 - 100.0
074
HE | 196 56 163 141 113 3 6 - 678
He | 269 | 67 | 221 | 211 | 216 | 02 1.4 - 100.0
‘064
HlE | 117 29 96 92 94 1 6 - 435
B AR ZAL B AR +2H0] A} HI (%)
0.0 5.0 10.0 15.0 20.0 25.0 30.0

<08 3-12> A R £4 AN E= Y oF x2o| HE(20084)
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59 AFAY F4 A4 o4F AGL AY/dAER AHuY, ofRe
AT SHE A3 AAAT S99 v gol 47 27.3%2 BA e

<E 3-20> =@ HFEXS FM Y £ ofd olF X|9(2008H) - FHd/o{AH

chel: %, X
— - _ N 2E/ =
T g e | P | Y | SUA | 9L | AFHE | s | oo | A
T o -

a1 HE | 27.6 7.2 236 | 200 | 212 0.4 - - 100.0
° "z | 189 49 162 137 145 3 - - 685

of HIg - 27.3 9.1 9.1 9.1 9.1 27.3 9.1 100.0
° | = - 3 1 1 1 1 3 1 11

2N | HE - - 33.3 | 66.7 - - - - 100.0
o8 | Bz - - 1 2 - - - - 3

34 A EE oA FEA AG(NL, 37, QMR AY Tt ofBe 7
= =

Hol 62.4%= 7} wotow, The o

d

4

<E 3-21> $EF X¥oRo| M N = off o SEKAQ HFEX| 2Z(2008H)

THel %, 8

7o | HEN | o | ke | aua | eda | ada | MR | wA
H| = 21.5 40.9 3.3 16.5 5.9 11.6 0.3 100.0
HIE 65 124 10 50 18 35 1 303
Hl & (%)
0.0 5.0 10.0 15.0 20.0 25.0 30.0 35.0 40.0 45.0
Mg Al
I =E(AHEH) 40.9
ZeA
5834
s44d
L] |11.6
HEFA |0-3

<0 313> $=H XYoo RN Y EE oY oY SER| JHEX LE(20084)

o



6) 2008 FA AA EE oA ¢ oF LA}

° 20089 F4 ARV T A e oA 22 oA dAE $49.14,9) A
_]

—Tl- o
. 9.11(=2) 914 9.16(3}) _
a0l A ol X = = 0|y & 7
Zatof| AR} ol 9.12(8) | 9.13(&) (@ M) 9.15(¢) o) | A
‘084 H|= 2.6 16.6 51.5 21.7 1.3 0.3 6.0 100.0
ALM+2Z10] | HIE 33 215 666 281 17 4 78 1,294
‘084 Hl= 2.8 17.3 50.0 22.0 1.2 0.4 6.3 100.0
AL HI= 37 231 667 293 16 5 84 1,333
. 9.21(2) 9.25 9.27(%)
=0 PRI : 23(2) | 9.24(&) | . .26(F oy | &
E2o t ol 9.22(E) | 9.23(Y) | 9.24(&) (& =) 9.26(%) 0|5 I A
0744 HIZ 4.4 8.5 15.1 37.8 19.8 1.6 0.4 12.3 | 100.0
= 53 102 181 454 238 19 5 148 | 1,201
i 10.32(3}) 10.6 10.8(Y)
=diof| X el X 2 = npsS| &t
e HUIPSEEIpNG ol 10.4(%) | 10.5(%) (= 2=u) 10.7(&) 0|5 | %
0644 H|= 6.2 10.9 50.4 18.7 1.3 0.4 12.1 100.0
= 48 34 388 144 10 3 93 770
[WAVE AL WARE +ZHOI T A} |
H & (%)
60.0
50.0 51.5
50.0
40.0
30.0
22.0 21.7
20.0
10.0 6-3—6.0
1.2 1.3 0.4 0.3
oo -~ B
9.11(Z)ol ™ 9.12(&) 9.13(E) 9.14(d,x4) 9.15(¥) 9.16(&l)ol & oy

<O 3-14> FM Iy L= ofdAl 22 old LRte| E2(2008H)
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o AbEARSE Ztel:AME XA+ Mo AxE AWET, APdEAF oW v
a

(7.3% — 3.0%)8ta. <tzre] vl &S Z7H30.5% — 38.7%)3 Zo=® 1}

O

CHel %, 8

ZO[ZANO (B[ 9.14 Az} ]
2l olzt bS] &t
A EAL ol 9.12(2)]9.13(&) (2 =A) 9.15(8) e o+ )P SHA|
9.11(8) | HIS 0.7 0.2 0.5 - - 0.2 0.1 - 1.7
o|A Hl= 7 2 5 - - 2 1 - 17
0.12(2) H| S 0.2 7.7 2.4 0.2 - 0.3 1.0 0.1 11.9
e Hlz= 2 77 24 2 - 3 10 1 119
H| 2 0.1 1.8 24.0 1.8 - 0.5 2.2 0.1 30.5
9.13(%) Hl= 1 18 240 18 - 5 22 1 305
9.14 |2 - 0.1 1.9 10.1 0.4 0.3 1.5 - 14.3
(o, =A) | Iz - 1 19 101 4 3 15 - 143
o H| = - - - 0.1 0.3 - 0.2 0.1 0.7
9.15(2) HlE - - - 1 3 - 2 1 7
9.16(8h) | H|Z - - - - - - 0.1 - 0.1
0| gz - - - - - - 1 - 1
oixiglx | BB - 0.1 0.9 0.1 - 1.0 0.7 0.2 3.0
20| Hl= - 1 9 1 - 10 7 2 30
o2t H| S 0.2 0.2 0.2 0.4 - - 20.4 0.1 30.5
-= gz 2 2 2 4 - - 294 1 305
0| H| S 0.1 0.2 0.5 0.4 0.1 0.1 3.5 2.4 7.3
< Hlz= 1 2 5 4 1 1 35 24 73
st A H| 2 1.3 10.3 30.4 13.1 0.8 2.4 38.7 3.0 100.0
= Hl= 13 103 304 131 8 24 387 30 1,000

<E 3-24> 2N AN T ofWAl B oY URH2008) - HA/0

chel: %,

- _
sy 9';:7;) 9.12(2) | 9.13(8) (;;.;) 0.15(8) 9'2)?(;” THEE
2| A HIZ 2.2 16.4 51.9 22.0 1.2 0.3 6.0 100.0

< Bz 28 208 658 279 15 4 76 1,268
0134 HIZ 18.2 31.8 22.7 9.1 9.1 - 9.1 100.0
- gz 4 7 5 2 2 - 2 22

Hy 3 HIZ 25.0 - 75.0 - - - - 100.0

oy | w= | 1 - 3 - - - - 4




7) 2008 FA4 A4 = @A S o) AR

° 2008 A AFIIE T
20.9%% 7V EA dEtwow, tgo
AL T 2% 6A] o]0l 17.2%% YEbd

<E 3-25> AMYRY %

1z
+
0x
kR
rr
2
02
>
ITh%
T
i=)
0
>
)
i
~
(@)
(@)
o
i

chel: %,

OA™ |28 BAl ™ |oxq gp~| 827 |12F 6N |os gu~
2 9A| = T 235 9A| = 1)
22 oF 6A| | OF Al o5 A | @5 o4 [2F ol | &
ol ol |B20l To | Tom | ME Ol
911(2) |HIg| - 15.4 154 23.1 15.4 - 30.8 | 100.0
o|™ HIZ - 2 2 3 2 - 4 13
H|= 5.8 5.8 11.7 22.3 27.2 14.6 12.6 100.0
9.12(&)
HIZ 6 6 12 23 28 15 13 103
H|= 12.5 20.1 28.0 16.4 5.3 3.9 13.8 100.0
9.13(E)
HIZ 38 61 85 50 16 12 42 304
9.14 H|& 24.4 32.1 16.0 16.0 2.3 0.8 8.4 100.0
(e, =AM) HIZ 32 42 21 21 3 1 11 131
H|= 12.5 12.5 12.5 37.5 - - 25.0 100.0
9.15(&)
HIZ 1 1 1 3 - - 2 8
H|= - 8.3 4.2 - - 8.3 79.2 100.0
ol o
HIZ - 2 1 - - 2 19 24
st A1) H|= 13.2 19.6 20.9 17.2 8.4 5.1 15.6 100.0
HIZ 77 114 122 100 49 30 91 583

D T B odA 2W/ATE A ARl oigk A2 ZolAll AR ARl eH, Fhol2AL A
SHAHN=1,000) T 7173 E=x= o Al FAHE base(n=583)%.
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A
1
re
o
~N
o
of\
&
oX,
k=

Ir
s
Og(:“'
>,
iG]
=2
2
o
>
o
=
i
re
k1
s
il
i
&
.
fE
e
i

£H9l: %,

OA™ @ BA " ox gp~| B2~ [2F 6M o8 gy - ~

= - S S /T S
= 9§| 7§Al 97%1' éa/\l o 0| 90T| 7§A| 20T|x£1w X ops | OIF 5t |
os! |HIE] 132 19.6 20.9 17.2 8.4 5.1 15.6 100.0
R 1= 114 122 100 49 30 91 583
o7 (BIE] 101 24.2 23.0 14.7 6.5 3.9 17.7 100.0
- lgl=] 121 290 276 177 78 47 212 1,201
g |HIE] 119 22.3 24.8 15.1 7.4 3.6 14.8 100.0
- lel=] 92 172 191 116 57 28 114 770

T D A B oA F/AE oA ARl g AT ZholzAbl MRt 2AME 9o, Tho]zAL KA
SHAHN=1,000) T 7174 H= oA Al FAHE base(n=583)%.

H & (%)
30.0
19.6 20.9

20.0 7.2

13.2 15.6
10.0 | 8.4

. =

. [ ]

OAl~ HEGAl~ A~ 2~ L EGA~ R F A~ oy

XAl H9A| H2 oA E6A 2 F9A Ay o™

ol ™ ol X o™ ol ™

<O 3-16> T4 Iy L= ofdAl 22 olF AlzZitiel 232£(2008H)

<E 3-27> FM I L= oAl 22 olF AlZtoH(2008H) - 7 /0{HE

Tl
OAI™ 12 BAl ™ |oxy guj~| BR™ [2F 6N |65 g~

2F 9A| = = 2T 9A| a1 o)

B K BA| | @A 9A QR Al | @5 9A| | =T 0% st 7

T o | o | Fe o | Z5t | =g o | © '
. HE| 13.4 19.7 20.9 17.2 8.4 5.1 15.3 100.0
c HiE | 77 113 120 99 48 29 88 574
ol 3 HlE - 11.1 22.2 11.1 11.1 11.1 33.3 100.0

< HIE - 1 2 1 1 1 3 9

T D T Es oA /A7 o AR Ol g

A2 ZbolzAbA A RE 2AME 9l o, ol 2AL KA
S H*Hn=1,000) & #14 E= o A el G H ba

se(n=583)%].



8) 34 A7t B olAF 2% A4 U7

T
9.12(&) 9.14 ] 9.17(5) _
Hex . _ 15(& 16(3 N ]ps| 517
HIHo f ol 9.13(E) (2 =A) 9.15(&) | 9.16(z&}) 0| | Al
‘08d | H|E 1.0 0.3 37.0 48.1 5.7 1.9 6.0 100.0
AlE+7ho]| EIE 13 4 479 622 74 24 78 1,294
‘08d | H|E 0.9 0.6 35.3 49.7 6.2 1.7 5.6 100.0
AFE Hl= 12 8 470 663 83 22 75 1,333
9.22(E) 9.25 9.28(&2) _
ol x ol 2l A = o] 5t
:r"ljl'o:”oE I' le,_'l 923(2) 924(2) (5_, _7'EA‘|) 926(‘!‘) 927(—|) 0|_§_ |o |=|7:”
074 H|S 0.3 0.2 1.1 37.1 43.7 6.8 2.0 8.9 100.0
= e 4 2 13 445 525 81 24 107 1,201
10.5(%) 10.6 10.10(Y) i
HYUx R . .8 9 ] ps| 8t
7ol A 2k} oF | (3, = 10.7(£) | 10.8() | 10.9(¥) 0|5 I A
061 H|E 2.2 26.4 36.2 20.3 1.9 0.9 12.1 100.0
= 17 203 279 156 15 7 93 770
W AFE = AL B AFE +2H0] = A}
H & (%)
60.0
50.0
40.0
30.0
20.0
10.0
0.9 1.0 0.6 0.3
0.0
9.12(&)old 9.13( &) 9.14(,F4Y) 9.15(¢H) 9.16(3}) 9.17(F)ol % oy

<32l 3-16> M 77} E= 083 S ofF Uxje| 2E(20081)
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B3
S
EX
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2
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=
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o 99 149 34 G| A7} EE AF 29 o WEe dh 2%

<E 3-29> FM It E= ol =L ol LXH(AIX/ZH0] nAEAM 2D

Ctel: %, o

= —1 ) ol
) LOIZAHO.12@) ) o )| 914 9.015 9.16 QNI X oo | e | o
FM Z= A} 0|H @FM) g | =) | ol | O
9.12(8) | HIE | 0.3 - 0.1 - - - - 0.1 - 0.5
0| HE 3 - 1 - - - - 1 - 5
913(=) ;E - - OéZ - - - Oil oéz - 055
9.14 H| S - 0.1 178 | 22 | 0.1 - 0.9 2.3 0.2 | 236
(2, Z=A) | Bz - 1 178 22 1 - 9 23 2 236
9.15(24) H|E - - 47 1200 | 1.0 0.2 1.3 2.1 0.2 | 295
HE - - 47 200 10 2 13 21 2 295
9.16(21) HE | 0.1 - 0.4 1.4 2.2 0.2 - 0.2 0.1 4.6
HE 1 - 4 14 22 2 - 2 1 46
9.17() | H|E - - - 0.2 | 0.1 0.1 0.1 0.1 - 0.6
0| HE - - - 2 1 1 1 1 - 6
AR} H|E - - 0.4 0.6 - 0.3 0.8 0.8 - 2.9
0| HlE - - 4 6 - 3 8 8 - 29
o2t HE | 0.2 - 0.5 0.1 0.2 - - 294 | 0.1 | 305
-- gz 2 - 5 1 2 - - 294 1 305
0| H|E - - 0.4 0.9 | 0.1 - - 3.5 2.4 7.3
< Hl= - - 4 9 1 - - 35 24 73
st A He | 0.6 0.1 245 | 254 | 3.7 0.8 3.2 | 387 | 3.0 |100.0
= Hlz 6 1 245 | 254 37 8 32 387 30 | 1,000

<#E 3-30> FM It E= ofdT =L oF LXH(2008H) - FH/0{AH

chel: %,

i A
Azl R} 9'2)'2,;2') 9.13(£) (;;.fm 0.15(2) | 9.16(2) 9':”7(; oE | a
21A H| S 0.9 0.2 37.5 48.5 5.5 1.7 5.8 100.0
HIZ 11 2 475 615 70 22 73 1,268
031 H| = 4.5 9.1 9.1 27.3 18.2 9.1 22.7 100.0
HIZ 1 2 2 6 4 2 5 22
HY 2 H| S 25.0 - 50.0 25.0 - - - 100.0
034 HIZ 1 - 2 1 - - - 4




ce:
OAl™ |2HM BA|~ OXf gA|~ H™ |12F 6A 7 |os ~
X > - 2 gA| -
7E X 6Al | 2 A S% oAl | 2% oA [TT 0" | @
o | ol | F2 OB Tom | Top | X8 0
9.12(2) |HlE8| - - 16.7 16.7 50.0 - 16.7 100.0
0| A Hig | - - 1 1 3 - 1 6
Hg| - - - 100.0 - - - 100.0
9.13(E)
Hig | - - - 1 - - - 1
914 |HIE| 08 0.8 14.7 46.5 13.1 10.2 13.9 100.0
(&, F4) "=z 2 2 36 114 32 25 34 245
0 15(3) Hg| 5.9 7.9 19.7 33.1 11.0 6.3 16.1 100.0
= ezl 15 20 50 84 28 16 41 9254
Hg| 54 16.2 35.1 21.6 - 2.7 18.9 100.0
9.16(3})
Hig| 2 6 13 8 - 1 7 37
9.17(%) |HIE| - - - 25.0 12.5 12.5 50.0 100.0
oF |Hz - - - 2 1 1 4 8
Hg| - 3.1 3.1 9.4 - 6.3 78.1 100.0
oy
Hig | - 1 1 3 - 2 25 32
- Hg| 3.3 5.0 17.3 36.5 11.0 7.7 19.2 100.0
- HiE| 19 29 101 213 64 45 112 583
FAAE e A 2E/AV AdA AR ek AR RO FAFA AT ZALEI O W, TR AL A
SHEAHN=1,000) T A4 = 98 AR - base(n=533)%
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o 2 AFAT F A EE OPT BT 4 A0 dsdEs
1

WH 2l 94 LSk Fe T e 6419 Hlgo] tha 7Y

<E 3-32> XA A7} E= oS F ofF A7)l =)

Ay E, 20074

T :
oA~ | 22| e | e~ | &T | o=

ofF | T | B0 | ol | ThaT | R ol
08" Hg| 3.3 5.0 17.3 36.5 11.0 7.7 19.2 100.0
iz | 19 29 101 213 64 45 112 583
074 Hlg| 5.7 6.7 14.0 34.6 12.6 6.7 19.7 100.0
- H=| 68 80 168 416 152 81 236 1,201
.y Hg| 5.7 5.5 15.5 36.6 10.5 7.7 18.6 100.0
- s | 44 42 119 282 81 59 143 770

T D A B oA W/AE oA ARk el gk A
S H2Hn=1,000) T 714 H= o F dFgAtel gE

T2 {Fo| AL AT ZALE QIO W ZFo] AL Z A
bas

e(n=583)%.
H & (%)
40.0 36-5
30.0
20.0 173 192
11.0 ..
10.0 3.3 5.0 . :
oo L N -
OAl~ 2E6A|~ 2EA|~ e~ S %64~ %A~ LS|
H6A| H9A| H2 oA 2 F6A| S F9A| Ay olX™
o| ™ o| & o™ o| ™
<3 317> M ot L= gl 2 o & AlZicHel 22 (2008H)
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o 587 A4 SRS AT oF 48THUIE oSHglon, AAoAYAY] TP
o] A BaAZe 37.0%% 7V BA etk eFAEAZS 99 122 ~ 99 1329
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<E 3-62> M 0lF FANEU S (B8 MLA 234 Hel)
Ehel: o

= Fed a7 ERE R 2 A

T=A 1,039,467 53,227 313,673 85,928 126,485 1,618,780
Zeld 39,038 119,137 14,194 1,583 11,888 185,840
SHA 219,949 13,145 288,796 113,597 66,385 701,873
HMetH 26,048 1,218 60,848 270,526 34,483 393,123
daA 60,611 8,270 49,630 48,239 1,803,333 1,970,084

A 1,385,113 194,997 727,142 519,874 2,042,575 4,869,700

@ ABFAFHEED

o S8R A7 BARS AT o cuUBE qSHen, AyRoR N BB
of A BaAZe 37.9%% M BA Utk AEAZ 99 142 ~ 99 1629

<E 3-63> M ol FASHL OSX(S8H MLA 234 He)
ERel: oH
= E FIEE ERE REE g A

A 1,151,126 49,427 296,088 40,194 81,378 1,618,214
Zed 64,711 171,400 16,611 1,396 13,349 267,467
s34 401,958 21,315 406,064 84,317 81,152 994,806
et 107,655 1,576 148,181 421,701 79,626 758,740
443 140,636 25,698 137,382 55,332 2,439,432 2,798,480
A 1,866,087 269,416 1,004,327 602,940 2,694,937 6,437,707
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2 27,373 112,553 14,637 1,077 20,784 176,424
SHHA 173,284 10,616 254,581 111,898 92,339 642,718
MetH 21,096 942 46,266 294,659 30,114 393,077
44HA 55,028 8,671 55,627 55,176 1,687,753 1,762,255
A 1,079,899 176,520 656,072 553,427 1,865,690 4,331,608
@ s HF (&2

o 5879 N7 BAFS A oF 7230 R, AACREAY Edgol
Aa FyF 37.1%% 7MY A YEtHS(AZ TSI HS 99 149 ~ 9¥ 16¥ 9

o o o
chel:
e e Zad 587 et I B

A 1,273,425 59,877 340,965 45,755 90,601 1,810,623

ZEHA 81,318 192,599 20,002 1,467 14,530 309,916
YA 472,986 23,022 448,822 95,934 97,819 1,138,583

MetH 118,010 1,846 163,702 520,536 87,375 891,469
443 181,183 21,855 132,018 62,717 2,679,021 3,076,794
A 2,126,922 299,199 1,105,509 726,409 2,969,346 7,227,385
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ASA e 7P T AolE HYlow, A= VIE 12.4%9) LAbES HY

Tl %
TE S| ZeH YA Metd a3 &
| 129.4 121.7 110.1 94.8 93.9 119.3
ZeA 142.6 105.8 97.0 147.0 57.2 105.3
s34A 126.9 123.8 113.4 101.5 71.9 109.2
MetA 123.5 129.3 131.5 91.8 114.5 100.0
ad4A 110.1 95.4 89.2 87.4 113.6 111.8
2l 128.3 110.5 110.8 93.9 109.5 112.4
2) A dE F7HASA/ASAD
o ARFAFY A5 BdE - FEAY dSAUL ASARY 22.4% AA dS5H]
AZA e} 7 2 Aolg B o, A 1E 10.9%] LAEE 1Y
<E 3-67> TN ¢x HESYT HIHOSA|/ASX_SEX LA 234 He)
CHel %

TE F=H ZeA SA Matd o3 &
| 90.4 82.5 86.8 87.8 89.8 89.4
Ze# 79.6 89.0 83.0 95.2 91.9 86.3
s3A 85.0 92.6 90.5 87.9 83.0 87.4
MetH 91.2 85.4 90.5 81.0 91.1 85.1
4484 77.6 117.6 104.1 88.2 91.1 91.0
& 87.7 90.0 90.8 83.0 90.8 89.1
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<E 4-1> 8 oiF XY TAL k(R E)

Chel: MICH, %

<15 20084 A 20093 &(ARM+ZH0|Z=AL

T | oy EE REEE EE REEE
M| HIE | W | HIE | s | HIE | N | HIE
ME8SHAl 4035578 | 1,080 | 21.6 | 275 | 233 | 1473 | 21.7 | 268 | 21.8
SAZAAl 1297533 | 350 | 70 | 88 | 75 | 474 | 70 | 72 5.9
CHT&Al | 881,872 | 240 | 4.8 83 70 | 322 | 47 96 7.8
CIMBAAl | 991,248 | 270 | 54 72 | 61 | 362 | 53 75 6.1
TFZYA | 502121 | 130 | 26 | 42 | 36 | 183 | 27 | 44 | 36
CHMBAl | 524516 | 140 | 28 | 48 | 41 | 192 | 28 51 4.2

Ao

>

379,133 100 2.0 36 3.1 138 2.0 43 3.5

=

4 7] = | 4160453 | 1,120 22.4 304 25.8 1,518 22.3 299 24.4
CAREE < 992,867 160 3.2 19 1.6 217 3.2 23 1.9

e 571,953 150 3.0 26 2.2 209 3.1 28 2.3

3 HE 791,620 210 4.2 36 3.1 289 4.3 69 0.6

det S5 699,669 190 3.8 20 1.7 256 3.8 19 1.5

Met e 764,626 210 4.2 15 1.3 280 4.1 28 2.3

A4 55 | 1,042,747 | 280 0.6 o2 4.4 381 5.6 o1 4.2

4 EE | 1,172597 | 310 6.2 61 0.2 429 6.3 60 4.9

H & = 211,670 60 1.2 2 0.2 77 1.1 1 0.1

al = 18,620,203 | 5,000 | 100.0 | 1,179 | 100.0 | 6,800 | 100.0 | 1,227 | 100.0

T D FAAAF 20074 7%
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<E 4-2> 4 AF X|AGY ZAL Mo (AFRIZAL ZHO[ZAL)
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x5 2008 M (AFMZ=AL 2008 A(ZHO|Z=AL 12008 A (AFF+ZHO|ZA})
T = RS z= FaRES HE FaE= Z=E FaE=
e [ HIE [ [ HIE [ | HIE | JHs | HIE |75 | HIE |5 | HIE
MEE9A||4,035,578 [1,473( 21.7 | 271 | 21.0 | 298 | 29.8 | 165 |22.7 {1,473 | 21.7 | 268 | 21.8
EA-AA11,297,533 | 474 | 7.0 | 78 | 6.0 | 58 | 5.8 | 39 | 54 | 474 | 70 | 72 | 5.9
CH ANl | 881,872 | 322 | 47 | 98 | 76 | 55 | 55 | 53 | 7.3 [ 322 | 47 | 96 | 7.8
OIMZIAI| 991,248 | 362 | 5.3 | 81 | 6.3 | 60 | 6.0 | 47 | 65 | 362 | 53 | 75 | 6.1
ZFZA| 502,121 | 183 | 2.7 | 48 | 3.7 | 32 |32 | 26 | 3.6 | 183 | 2.7 | 44 | 36
CHEZIAl| 524516 | 192 | 2.8 | 54 | 4.2 | 30 | 3.0 | 26 | 3.6 | 192 | 28 | 51 | 4.2
SMZAA|| 379,133 | 138 | 20 | 43 | 33 | 23 | 23 | 17 | 23 | 138 | 20 | 43 | 35
Z 7l £[4,160,453 |1,518]22.3 | 326 [25.2 | 239 | 23.9 | 181 |24.9 [1,518]22.3 | 299 | 24.4
Z ®l =| 592867 [217 [ 32 | 23 | 1.8 | 20 | 20 | 18 |25 | 217 | 3.2 | 23 | 19
58 25| 571,953 [ 209 [ 3.1 | 30 | 23 | 21 [ 21 | 18 |25 (209 | 3.1 | 28 | 2.3
S 2| 791,620 [ 289 | 43 | 70 | 54 | 44 | 44 | 41 | 56 | 289 | 43 | 69 | 5.6
Mt 25| 699,669 | 256 | 3.8 | 22 | 1.7 | 17 | 1.7 | 12 | 1.7 | 256 | 3.8 | 19 | 15
Met S E| 764,626 | 280 | 4.1 | 29 | 22 | 25 | 25 | 18 | 25 | 280 | 4.1 | 28 | 2.3
AN 251,042,747 | 381 | 56 | 54 | 42 | 38 | 38 | 33 | 45 | 381 | 56 | 51 | 4.2
AN Y E|1,172597 | 429 | 6.3 | 62 | 4.8 | 37 | 37 | 32 | 44 | 429 | 6.3 | 60 | 4.9
M F = 211670 | 77 |11 | 3 |02 | 3 03| 1 |01 |77 | 11| 1 |01
P =118,620,203(6,800{100.0 1,292 [100.0 1,000 [100.0| 727 [100.0{6,800|100.0|1,227|100.0
T D AR, 20079 71
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5 A9 olFA] Folg oA uEFHoRE 827} 85.7%E

o A ARTIE T AR H5H9 oA A S 7= 4%o] 23.0%% 7HE =9k,
o ]
“

o ALHIZE= 2007WE(25.0%) tH] 20083 %(21.0%)2] A AA T o8 H|&o] thih
A a1y

<E 4-3> 8 7N £ ofd o2 ()

EHl: %, &

7 2 014 Y 2oy | og 8t
081 HIE (%) 20.4 0.5 0.1 79.0 100.0
- BI= (H) 1,389 36 4 5,371 6,800
HIZ (%) 24.4 0.6 - 75.0 100.0

‘o7HA
BI= (H) 1,218 32 - 3,749 5,000
HIZ (%) 24.0 0.7 - 75.3 100.0

‘064
BI= (H) 839 26 - 2,635 3,500

(n=6,800)

AY 2 ol
0.1% 0.5%

<J8 4-3> 4 7Y L£= ofd 0iFe Ex(2008H)



<E 44> 2UXHY M M L= ofF 0{F(2008H)
Tt %, o
- = A o3l HAM 2 oy ot S A
REE— H| = 20.2 5 - 79.2 100.0
Hl= 208 8 - 1,167 1,473
A7z H| & 24.8 0.6 0.1 74.6 100.0
(olM =8l Hl= 466 11 1 1,402 1,880
selc H|E 12.4 1.4 - 86.2 100.0
Hl= 27 3 - 187 217
. H|& 16.7 - - 83.3 100.0
ZMEB
een HIE 35 - - 174 209
EXRLT HlS 25.6 0.2 - 74.2 100.0
(™ =g HlE 123 1 - 357 481
Mats o |2 9.0 0.8 - 90.2 100.0
HlE 23 2 - 231 256
Majute HlS 17.5 1.1 0.2 81.2 100.0
(&3 zgh == 81 5 1 376 463
ANES Hl& 21.2 0.6 - 78.2 100.0
(cH=+ =28 Hlz= 149 4 - 550 703
AN H| & 17.7 0.2 0.2 81.9 100.0
(EAH 2AF Z8H | HIE 184 2 2 853 1,041
H| = 3.9 - - 96.1 100.0
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- 2 |2 20.4 0.5 0.1 79.0 100.0
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